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Note : Answer any five questions. All questions carry equal

marks.

1.	 (a) State whether the following statements are	 6

true or false. If false, give the correct
statement :

IgG class of antibody is present in
body secretions.
ATP has higher tendency to transfer
its terminal phosphate group to water
as compared to glycerol-l-phosphate
because of lower A G°1 value of
hydrolysis of ATP
Calvin cycle is also known as
reductive pentose cycle.
The codons of mRNA are read from
3' to 5' end during translation.
Folic acid is required for both purine
and pyrimidine biosynthesis.
Naturally occuring unsaturated fatty
acids are in trans configuration.
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(b) Give two points of differences for any two	 4
of the following pairs :

Cellular and humoral immunity
Enantiomers and anomers

(iii)	 Fatty acid biosynthesis and
13-oxidation.

2.	 (a) Write the step (s) to carry out the following	 4

conversions :
Glucose is converted to Gluconic acid
Serine is converted to glycine
Galactose is converted to methyl
galactoside
Methyl Malonyl-Co A is converted to
Succinyl-Co A.

(b) Give one example each for the following :	 4

Enzyme whose level rises immediately
after heart attack.
The major storage polysaccharide in
plants
Cell organelle where I3-oxidation of
fatty acids take place.
Water soluble vitamin whose
deficiency causes pernicious anemia.

(c) Give the scientific contributions of the 	 2
following :

Pauling and Corey
Singer and Nicholson
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3.	 (a) Give two advantages of having oligomeric	 2

proteins in nature.

Name two peptide hormones secreted by the 	 2

pituitary gland, which are similar in the
number of amino acids and intrachain
disulfide linkages but have different
functions.

Calculate the number of ATP molecules 	 4

generated by complete oxidation of glucose
under aerobic conditions.

(d) Define melting temperature (Tm) of DNA. 	 2

	

4.	 (a) Schematically depict the seperation of sub 	 3
cellular organelles.

What are allosteric enzymes ? Explain by 	 4

taking the example of phospho flieto-kinase.

What is the biochemical basis of lactose 	 3
intolerance ? What are its symptoms ?

	

5.	 (a) Give two examples of genetic defects in 	 2
humans.

What is substrate level phosphorylation ? 	 4

How does it differ from oxidative
phosphorylation ?

Briefly out line that dark reactions of photo 	 4
synthesis.
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6.	 (a) Give the salient features of the genetic code.	 3

(b) Give the structures of any four :	 4
Sucrose

Tristearin

Glycylalanine

Rebothymidine

(v)	 Oleic acid

(c) Give the differences between a-helix and 	 3
I3-pleated sheet.

7.	 (a) Explain how activated amino acids are 	 3
generated for protein biosynthesis ?

(b) Write short notes on the following : 	 4

Physiological roles of riboflavin

Applications of genetic engineering

(c) Describe any one experiment to support that 	 3
DNA is the genetic material.
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